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When we study language we discover more about different fields of knowledge:
1-Psycholinguistics «illl 4all) ale

is the study of how listeners recognize words and utterances, or how damage to our brains results in certain kind
of language disorders.

2- Applied linguistics 4l ciy gall)
A branch of linguistics where we study how to learn and to teach different languages.
3-Sociolinguistics (,SLiaY) 4all) ale
The study of the relation between language and society and the different varieties of language people use

4-Artificial intelligence (luall #1S3l)
The study of how to make computers more sophisticated.
41l el adin o

Language can be used in different ways:

A. Language used referentially
R rf;\diiu\

B. Language used affectively.
e aladial

C. Language used aesthetically.
JAPENPIKENY

D. Language used phatically.

Leia aa) g JST Cay yat 48 g AAAAAA
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34-......

D Aipall Gady (LR (B peadil) AR g S e 3 )5 I

veenenne 1S the study of how a listener recognize words and utterances, or how damage to our brains results

in certain kind of language disorders

A. Psycholinguistics

Sociolinguistics

B
C. Artificial science
D

. grammar

.......... 1s the study of how a listener recognizes words and utterances.
(A) Linguistics

(B) Psychology

(C) Sociolinguistics

(D) Psycholinguistics

Raall ks (4 e ) 8 Al aladiud e ey

(19) The affective function of language expresses the speakers’ or writers’...........

(A) feelings and attitudes.
(B) importance

(C) intelligence

(D) falling and failure

Al fams (e Jadll 8 ARl Naall A839) G Jlga s




{71 T———— language 1s usually used in poetry not in science.
(A)Referential

(B) Affective
(C) Aesthetic
(D) Phatic.

el ahaiu¥l e ) Sile 35 ale i L

35- Referential use of language can be found in examples that ......... :

giving information or instructions the hearer wants the speaker to do

giving wrong information or instructions the speaker wants the hearer to do
giving information or instructions the speaker wants the hearer to do

keep communication lines open and are used in science, not in poetry

A.

B.
C.
D
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Power and language.

Definition of power <&
- Power is the ability of its holders to force compliance or obedience of
other people to their will.
Saussure’s theory of language.
Aall s sus 4y las

Saussure divided language into two parts..
Cpansd ) ARl i o ool ¢

1- Langue is ‘our [innate] knowledge of the systematic correspondences between sound and meaning which
make up our language (including the knowledge of what utterances are possible . . . and what utterances are
not).

Parole: is the actual use of language in both speech and writing

Jslaally JIall e 23S paa

Signifier: the sound sequence which makes up a label

Signified: is the meaning or concept associated with the signified

o Lagin Il )l (pamaarbitrary

The link between the signified and the signifier is arbitrary

440N 8 3, L sl padlad adla 138
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(66)......... 1s the ability of its holders to force obedience of other people to their will.
(A)Parole

(B) Language
(C) Power
(D) Signifier.
s g A T (Y anal) (8 (05 4 209 I3 LR langue
36- The term ............ refer to our [innate] knowledge of the systematic correspondences between sound and

meaning which make up our language :
A. lasagna

B. language

C. lungs

D. langue

2) cerennn is ‘our [innate] knowledge of the systematic correspondences between sound and
meaning which make up our language'.

(A)Langue

(B) Teaching

(C) Leaning

(D) Parole

S adll e s sParole il gl ga @l LA EXG B
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(21). ......... 1s the actual use of language in both speech and writing
(A)Power

(B) Langue
(C) Parole
(D)Bail

37 s is the actual use of language in both speech and writing :
A. Competence

B. Comparison

C. Langue

D. None of the above

A il alud) e ol g L) Un g

(41)Saussure divided language into two parts: /angue and ...........
(A) paradox
(B) pardon
(C) parole

(D) grammar.
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38- Choose the correct sentence :
A. The term 'Signifier' is the meaning or concept associated with the signified
B. The term 'Signified' is the meaning or concept associated with the signified

C. The term 'Langue’ is the meaning or concept associated with the ... ( not clear )
D. The term 'hedges' is the meaning or concept associated with the signified

(1) The link between the signified and the signifieris ............
(A) arbiter
(B) Artery
(C) arbitrary
(D) artistry
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The Sapir-Whorf hypothesis. The hypothesis refers to two parts:A. Linguistic relativity
B. Linguistic determinism
e
1- Language and Politics 4uludl 5 421
Politics is concerned with power: the power to makedecisions, to control resources,
to control other people’sbehavior and values.
2- Ideology « =5

Ideology: : Any set of beliefs which, to people who hold them, appear to
be logical and natural.

Political discourse. (oulnd) il

- Presupposition (ssall (il ydY)

Presupposition is the background assumption embedded within
a sentence or a phrase.

- Implicatur <& s

Implicature leads the listener to infer something that was not explicitly
asserted by the speaker.

S i L s Led O sman 5 (S B S Dilaslaa Lgad 5 jualadll
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(46) According to The Sapir-Whorf hypothesis, there 1s a ... link between culture and language.
(A) captive
(B) active
(C) causative
(D) loose.

(13) The Sapir-Whorf hypothesis indicates that ......... e
(A)there is a fizzy milk between nurture and lasagna .
C——=33) there is a causative link between ostriches and luggage
\-fC) there is no link between culture or language.
Q%) there is a causative link between culture and language. D s &

39- According to Sapir-Whorf hypothesis, there is ............. :
A. causal link between agriculture and language

B. causative sink between hose and router

C. causative link between culture and language

D. No causative lings before lecture and luggage

2 glia 5y 5 pually Cansd K1 Aalal (e L aay Lo Led At al) chlBEl) el e J) s
33;\)3)4))_5}

40- Choose the correct sentence :

A. Llanguages of similar cultures involve similar systems of representation which are necessarily equivalent

B. Languages of different structures involve similar systems of grammar which are necessarily equivalent

C. Llanguages of different passengers involve parallel systems of representation which are necessarily equivalent
D. Llanguages of different cultures involve distinct systems of representation which are not necessarily equivalent

Geall Ul y8Y1 e J) suPresupposition ddkiss il & 0 3 35




50- .ueeeeees is the background assumption embedded within a sentence or a phrase :
A. Implicature

B. Preposition

C. Presupposition

D. Propsition

(45).cccnen.... 1s the background assumption embedded within a sentence or a phrase.
(A) Imply

(B) Definition

(C) Presupposition

(D) Implicature

Alidy (5 e Jlgadl dde 2 )5 (o sl (i jat)

(13)....- 1s any set of beliefs which, to people who hold them, appear to be logical and natural.
(A) Geology
(B) Doxology
(C) Eulogy
(D) Ideology

Gl Gy =i e JIsuPolitics G e LSS




(44)......... 1s concerned with power: the power to make decisions, to control resources, to
control other people’s behaviour and values.
(A)Politics
(B) Politeness
(C) Polysemy
(D) Polylines

Gnlund) A& V) akad (oS o B jualaally 3 i 4
How to achieve political beliefs.

Gob DL
1- Physical coercion sauall Jla¥) (5 S
4l Alulpndl o e 58
e Associated with dictatorial regimes

2- Legal laws
Aadaiy) aladiuly
bl 8 sapal) luadly ladi e 58
o Associated with democratic regimes

3- Persuasion and consent.
g UYL, Lia s
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(63) Physical coercion 1s associated with ..........
(A)legal laws
(B) dictatorial regimes
(C) Persuasion and consent.

(D) Democratic regime
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Persuasive language.
gLay) 4al
The power of Rhetoric
el 3 8

s
Rhetoric : is the art of using language so as to persuade or to influence others”

A. Rhetorical Devices used by Politicians:

B. Metaphor 5_lxi.Y!
is a way of comparing two different concepts

C. Simile

Al
asserts that something is similar something else.

D. Personification

-

Personification is a rhetoric device that entails giving human characteristics to inanimate objects or abstract
ideas

E. Euphemism

gy

-

Euphemism is a rhetorical device which uses mild or inoffensive language to make something seem more
positive than it actually appears

F. The Rule of Three
A ac ! gall

G. Parallelism ¢ ) sl
A rhetorical device which expresses several ideas in a
series of similar structures.

H. Pronouns el
are a device which can be used by either to emphasize or to
obscure responsibility and agency.




- Language and the media

e ¥l s aal

s Al ) iy o

Linguistic representation is a level of language use which is concerned with the relation
between how a story is told and how this can lead to different view or versions of the same
story or event.

@ 5l e Ay

45- ............ is a rhetorical device which expresses several ideas in a series of similar structures
The role of three

A

B. Euphemism
C. Parallelism
D. Paralysis

A3 @y a3 eSS Vg

(4) .......... 1s the art of using language so as to persuade or to influence others.
(A)Retroflex

(B) Orthotic
(C) Rhetoric

(D)Restock

QSN g i e S5 Vg




to make something seem more positive than it actually appears.

(6) Euphemism uses .......
(A)bold and abusive language
(B) difficult language
(C) offensive language
(D)mild or inoffensive language.
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Media Voices: accent and Register

daglll daudl

el & el g gl
accents used in the media

a- Received Pronunciation (advanced RP):
Refers to the accent used by the educated and the wealthy. It gave no
indication of what part of the country the speaker came from.
et S Laodiiaad) (pe J8 Gpalaiall 50ds Yy el 315 ) A) ity sl al)
Lhaaviall
b- BBC English:
pronunciation of British English based on the speech of the upper class

of southeastern England.
lad Zadall Wlall (e i (3 ) sila),

C- Mainstream (RP):
An accent which sounds less formal than advanced RP and is the one
that most people in Britain generally hear when they listen to
newsreaders on national television.
Al JBY) Aans 5 Lmanny s S5 g 5l (n lin (il 8 ity 51 g a0 () smcinn; Loic
bl sl b LY

variation in register
call) A Jad)
Register is the way that language can systematically vary
according to the situation in which it is used.

Public part|C|pat|on in the Media

Language society and virtual power.
cAAA.AS\j w\j Mﬂu\

Netiquette <uSil cu




Netiquette refers to the rules that attempt to control social
interaction in the virtual world (cyberspace).

Language and gender
dall) uisdlg
How is English sexist?
Sexist language represents women and men unequally, as if
members of one sex were somehow less completely human, or
had fewer rights than members of the other sex.

Symmetry and asymmetry
Sl aae 5 il
Aeadlal) 5 pumlad e ) ALY
o= JssReceived Pronunciation __S

(15) Advanced RP refers to the .......what part of the country the speaker came from, “
(A)dialect used by the uneducated and the poor; it gives indication of

—E—3) accent used by the educated and the wealthy; it gives no indication of
(C) accent used by the eradicated and the filthy; it gives all indications oi:
(D)language used by the indicated and the healthy; it gives some indication of

(174 - refers to the accent used by the educated and the wealthy; 1t gives no indication of
what part of the country the speaker came from.
(A) Advanced RP
(B) Classical Arabic
(C) Vernacular

(D) D1alectal pronunciation

Bl .o, gives no indication of what part of the country the speaker came from
Colloguial Pronunciation

Received Pronominalisation

Received Pronunciation

=2 N e

Allophonic Pronunciation

o i e Jlsuregister




(14).11v00is the way that language can systematically vary according to the situation i which it
is used.
(A)Registration

(B) Reality
(C) Register
(D)Rigidness

o= JlsSexist language

49- Choose the correct sentence :

A. Sexist language represents women and men equally, as if members of one sex were somehow less completely
humid, or can write more than members of the other sex

B. Saxon language represents women and men untidily, as if members of one six were somehow less committedly
human, or had fewer rats than to remember number six

C. saxophonist language represents women's and men's voices unequally, as if ... ( not clear )
musical instrument were not loud enough

D. Sexist language represents women and men unequally, as if members of one sex were somehow less completely

human, or had fewer rights than members of the other sex

(@75 R represents women and men unequally
(A) English language
(B) Anglo-Saxon languages
(C) Sexist language
(D) Insisting language

aDAS 5 ,ES /31 pall e i) G ) e J13u@©
41- The most common stereotype about women's speech is that ......... !
A. mentalkalot
B. women talk a little
C. women talk alot
D. women talk a quickly

a5 e JsuNetiquette
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How is English sexist? Some ways of using language are sexist
058y S el asiall A 5laiVI ARG € ey 5k aladin dalll Gy b

Unmarked and marked terms
Marked terms refer to anything which deviates from the norm and this
deviation is signaled by additional information.
Unmarked : Linguistic forms are neutral in so far as they represent the
‘norm’, and carry no additional information.

Sexism in discourse
Do women and men talk differently?
In a mixed-sex conversation, the average amount of time for which a man
talks is approximately twice as long as the average amount for which a
woman talks.
alaally dabisall Jas gie Jama laie gl (AN Chanty 4 Ja )l 8 Cheia 31l
Interruption
The extent to which men interrupt women ....Men interrupt women more
than they interrupt other men, indicate that men act as if they have more
right than women to speak in mixed-sex conversations, and that women act
as if they had less right to speak than men.
iy Qa1 51yl ST Lan i el il 138 5 iy I ol Dl (58 ey LS 51 () g
dall 8 Cuaall ) e sl all L Gas o)) 8l all i et LS o) (o) (Ll el 8 DS
Back channel support
Research suggests women are often more active than men in supportive
roles in conversation.
D3 sbudll HAS)Aleld o Ja ) (B s dalall
hedges and epistemic modal forms
Hedges are linguistic forms which ‘dilute’ an assertion.
S Capaanl anaiad ) dadl
Women are less confident than men and feel nervous about asserting anything too
strongly. ; ;
slull JBY) ap 485 el g il Jga S (20 6l




women prefer to avoid conflict and to allow disagreement to take place without explicit

confrontation
iad eluill Jadt | adlall

fdladl 5 pemladl) e Al
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42- Marked terms refer to anything which ........... :

A. deviates from the horn and this deviation is not signaled by any car

B. disdain from the form and this deviation is signaled by additional amount of money
C. deviates from the norm and this deviation is signaled by additional information

D. debates about the mourn and this debate is signaled by additional information

.15 terms refer to anything which deviates from the norm
(A)Marker
(B) Maker
(C) Marques
(D) Marked

Euaall daklia o JIminterrupt

43- The extent to which men interrupt women indicate that .......... :

A. women act as if they have more right than men to speak in mixed-sex conversations, and that men act as if they
had less right to speak than women

B. men act as if they have less right than women to speak in mixed-sex conversations, and that women act as if
they had more right to speak than men

C. men act as if they can write more than women, and that women act as if they had more right to buy books

D. men act as if they have more right than women to speak in mixed-sex conversations, and that women act as if
they had less right to speak than men

Cra (o 28U A G 3 Y Ladie 4 eV ARl andid Al JadY) oo J) e




s smodel auxiliary verbs
46- .......... can be used to indicate that you don’t want to sound completely certain about something :
transitive verbs
intransitive verbs

phrasal verbs el 3, S0 e dagaall Ay
none of the above ¢ Modal auxiliary verbs

°on w >
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(28)Hedges are linguistic forms which ........ an assertion
(A) elute
(B) dilute
(O) flute
(D) Deluge.
(30)Some studies show that women use hedges because they ........
(A) prefer to make troubles
(B) like to make problems
(C) prefer to avoid conflict
(D) prefer to confront other people.

. '..M}“
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Dominance Theory: takes the difference in power between women and men as the main
cause of discoursal variation.

According to this theory: Men tend to have more power than women:

physically, financially and in workplace hierarchies.

Gl 1 g o) Bl (3 53 Gy o 8L s L Oladl OBy ) )
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Weak points of Dominance theory:
1- women are represented as ‘powerless victims.

2- shows men as undermining, excluding and demeaning women.

(sledl) Ogtnn ,0golan) BY 8 3002 Jl )l glar =2 L Camial) Ll 8L sl glas =1 1 a bl e bl

Difterence theory

[t suggests that women and men develop different styles of talking because they are
segregated at important stages of their lives.

& gy e aplladil o DS (e Adlide Cullal (g ghay eluaill g Ja I () 7 385 1 DAY 4 las
bl (e dage dal s

What 1s ethnicity?

The attribution, or claim, to belong to a particular cultural group on the basis of genetics,
language, or other cultural manifestations.

Ethnic majority and Ethnic minority

CLlY) g Anle Y1 A8 jal)

Ethnic majority is a group which has a socially dominant culture.

9108 a0 5 e pone L 5 Fisga Ll

Ethnic min(")rity Refers to members of minority groups

LY A 1) ) ol sl

The ethnic majority has been established for a longer period of time and the minority
groups are the more recent products of migration.

ol e Y128 51 5l 5l (pm 28 1 eyl Y1 (0 5 S 8l g s

The language of prejudice




Prejudice refers to preconceived, usually unfavorable, judgments toward people because of
gender, social class, age, disability, religion, sexuality, race/ethnicity, language, nationality or

other personal characteristics.

Dndy Gaal) aSall GalSa¥ slad Gulil) Cas ¢p i) Adudall e laia¥) | cpdl s d8le ) i ol
S oaiall o @oal) o Al o Aaall f (ailadll duad Bl o &Y,

Negative labelling

The word Black was often linked in the British media with negative signs such as hate,
fight, riot.

1 L Ly aads” black 2 adley) ey astad ald) e dad) Caalt )y

The word Jamaican indicates illegal drugs entering the country.

5 adS” Jamalcanehuasd) sl asgal) gl s U

The word small islander (which refers to people who have migrated from poorer and
smaller islands) is derogatory.

wdS” s small islander ssea¥1 4V a0 g als o i) 5padlly 5 panl)

Reclamation

is when members of ethnic minorities sometimes attempt to reduce, or remove, the
power of derogatory ethnic labelling by using those terms among themselves, as
positive markers of group identity.

Tl (3 om0l psi Ledie 33T LYY 23,801 i) Aglons of SLWI Al 28,801 plisiaal Jaor danly pgele Biengld
G lmllaall gry DS 25 214 dsgestl,
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(38)cnnn. takes the difference in power between women and men as the main cause of
discoursal variation
(A)Domineers Theory
(B) Determination Theory
(C) Dominance Theory
(D) Minimalist Theory
47- The Weak points of Dominance theory are that it represents ........:
A. women as ‘powerless victims” and shows men as undermining, excluding and demeaning women
men as ‘powerless victims’ and shows women as undermining, excluding and demeaning women

B
C. women as ‘powerful victims’ and shows men as careful about looking highly ... ( not clear )
D. women as ‘cowardice venom’ and shows them as committing sins

(43)According to the Dominance theory, ..... tend to have more power than women.
(A) girls
(B) women
(C) men
(D) children

oS AN e Jisa




(62)The term Ethnic majority is used to refer to a group which has a socially........ culture.
(A) ruminant
(B) difficult
(C) diamond
(D) dominant

48- Choose the correct sentence :

A. An ethnic majority refers to a group which has a socially dominant culture

B. An ethnic minority refers to a group which has a socially dominant culture

C. An ethnic minority refers to a group which has a politically dominant lecture

D. An ethnic majority refers to a group which does not have a socially dominant culture

DS Grasall aSall Cay 23 e Jl g

(55)........... refers to preconcerved, usually unfavorable, judgments toward people because of
gender, social class, age, disability, religion, sexuality, race/ethnicity, language, nationality or
other personal characteristics.

(A)Prejudice
(B) Language
(C) English
(D)Linguistics.
4- Prejudice refers to .....ccceeieinens toward people because of gender, social class, age, disability, religion, sexuality
or other personal characteristics :
A. postconceived, usually unfavorable, judgments
preconceived, usually unfavorable, judgments

B.
C. preconceived, usually favorable, judgments
D. preconceived, usually favorable, jam and mint

S8 R ki e e




(61w s suggests that women and men develop different styles of talking because they
are segregated at important stages of their lives
(A)Domineers Theory
(B) Determination Theory
(C) Dominance Theory
(D) Difference Theory

=3 e JlswReclamation

48)....... is when members of ethnic minorities attempt to reduce, or remove, the power of
derogatory ethnic labelling by using those terms among themselves, as positive markers of
group identity.

(A)Relation

(B) Reclamation
(C) Redirection
(D) Relaxation

oo Jsw A4l in Wplack

(50)The word ..... was often linked in the British media with negative signs like hate, fight, riot
(A)Black
(B) White
(C) Orange
(D)Red

A8 5 208yl dle DU duia 3 saal) e Zilall aal 8 els )




3- Choose the correct sentence :

A.

The ethnic minority has established for a longer period of time and the minority groups are the more recent
products of migration

The ethnic majority has established for a longer period of time and the minority groups are the more ancient
products of migration

The elastic majority has established for a longer period of time and the minority groups are the more recent

products of moderation

The ethnic majority has established for a longer period of time and the minority groups are the more recent

products of migration
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Language and Ethnicity. @l s 4l

Language use as a marker of ethnic identity

Members of an ethnic minority have the desire to acculturate to what is
considered mainstream.
sliac | A08Y) 48 jall agual dae I 8 AL ma Lo jimy et )
Ethnic minority members continue to participate in cultural, religious and
linguistic practices which mark them as distinctive.
Jaal i elimef LYY 48 jal) 3 A8 Liall il jlaall 43S Al s 4 salll il 5 e ad
cped aal lgdg aa e
Language policy in the United States

English only Movement 4S_ja L 4, 505y
Promotes English as the language which unifies America.

.....

Language and age sl 4all)

Introduction: what has age got to do with language?
How can a language reflect the status of children and older people?

Labeling age groups

(S5 oo Lnld) 5,018 |rwolid 33 4al))
i @S, L YA AT e dly Jlge (Sse Al Lt Rl 30l e dld




(47)English only Movement promotes English as the language which ........ America.
(A)unifies
(B) destroys
(C) invades
(D) occupies
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7.3.1 Language characteristics of the under-fives and over-sixty-fives
Ol Acsaldd) o ST g Asaldd) G O 50 AL Lailiad
Language characteristics of the under-fives
AvcealAl) et () 99 dall) el
1- The pitch of their voice is quite high relative to that of adults.
Ol 4l aa dlle Lol agigoa 4a 00 @
2- Their early pronunciations of words can be guite different from
the adult versions.

Ol ja e Lalad caling p CilalS K ¢85 3 agild S0 o Sy @
Language characteristics for the over-sixty-fives.
cOiaad) g dsal A s Cpa ISV A2l ailald
1- The over-sixty-fives are experienced language users.
dalll eadfiine s yd Grial) g Lsd Al s (e ST allaly
2- Older people may require slightly longer processing time to produce and
understand complex sentences.
sdinl Jaall gy oy ki g s 5 L S by 5 o
3- Hearing often becomes less acute as people get older, and this can lead to a
reduced understanding of rapid or whispered speech or speech in a noisy
environment.
g i) I eas o 0Sa Na s Gual) (3 Cppeniial Gl saa J8 aedll sy LVl e S
Lalia 44 A il 5 JDISH Gaas gl agall
4- The ageing of the vocal cords and muscles controlling breathing and facial

movement results in slower speech.
Ao shaliy da Gl AS ad Al 5 edtll e Dlaall 5 45 s L_JL};.'LI Rl jhud e

Child Directed Language (CDL) 4alll 3 jlal) Jilal!
Child Directed Language is a special style used in speech to young children.




Characteristics of Child Directed Language.
Jalall 5 Sl ) G50l atlas

® calling the child by name, often using a ‘pet’ name or term of endearment

conill =llaian o anlS "IV U1 pad aadies Lo Llle Al Jakll ele il

e shorter, grammatically simpler sentences

a9 o) A il Jaall

® more repetition

Ol S5 S

® More use of questions or question tags (‘That’s nice, isn’t it?’)

(" Tl i cCaglal 13a) algiind ladle ol ALY aladiul (e 2y 3l

use of ‘baby-talk’ words

1] T&j_“ ;11712-‘5_}1.115 Pl' |

expanding on and/or finishing a child’s utterance.

. Jakall 3l elgd) o /5 Ao an il
(&L\LAJM\QAJ,U'JWC\J\ SJ@M&&J\)
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32- A Language characteristics for the over-sixty-fives is that the Older people may ...... :

A.

B
C.
D

require slightly longer processing time to produce and understand complex sentences
require slightly less processing time to produce and understand complex sentences
require shorter processing time to produce and understand child language

require slightly bigger bedrooms to produce and understand complex sentences

33- Some of the characteristics of Child Directed Language are ..... :

A,

B
C.
D

calling the child by name, often using a ‘pet’ name or term of endearment
shorter, grammatically simpler sentences and more repetition

mare use of questions or question tags and the use of ‘baby-talk” words
All of the above

. (08 e

Losiaall £ gl e AR Yy S JSy aida i palaal) (adla 1 ddiadla
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Language and class 4l 4elaia¥) 44l g
A given language is not used in exactly the same way by every one of its

speakers.
Y i ool 4a) e (g 4l Ll (0 U fiantall ey
Accent: refers to features of speakers’ pronunciation that can

signal their regional or social background.
o) Al agidlAl Hud0 o oS Al Gibaadal Blad medle () uds AT o
e laiay!
Dialect: refers to a variety of a language that can signal the
speaker’s regional or social background.

Shaniall 2-.151"*-1 _)‘.,1’...23 ,_J'l JS.AH \é_ﬂll 41l Cpa 2-.:-_5.\10 :L'E-jm é'l _):1.&:* ZKASJ.M ®
dpclaial) 5l dpalsy)

8.3 Does social class really affect language?$4alll a7 Aelaay) 4okl Ja
YES. Social class affects language4alll: s doelaial) didall aal
e The higher a person is on the social scale, the more their speech will
reflect prestige norms.
aaii gtina ) e il el WS | e dpelaia) Ak (e (il OIS LS
Speakers at the top of the social scale speak Standard English with very little

regional variation.
Yasbadll A3l () gardioy Llal) due Laia¥) AGdal) (e ofiasialistandard. Jwsdl) e las 8 o (

E.g. Words

WC Lavatory toilet

e All the above words are acceptable in Standard English, and all refer to the same
thing.

el il Lgmpan it ) 45 Iyl A g o oMo f LK s @
e There are some non-standard words which also refer to the same thing:

bog lav privy Dunny john
:,,-,;I_?_.;'alﬁ PYER R ‘_Jl Al e LK paas cllin o

Social class can be divided into: (Say e dsudall dse Laay) );
a. Upper b. Middle c. lower




e |t is not easy to differentiate members of one social class from those of
another.

Ala Gany Jal gall Sl (Say O 2057 458 Aima e Gl ) sy L) @

1- education 2- occupation 3- economic

8.4 The problem of defining social class
Ao LaiaY) Adgdall (i) ot AdSia

¢ Some people equates social class with money:
L) a dpelaaW dsal) Gl paey JalaS e
¢ The main problem with equating social class with money is that it is not always the
middle classes that have money.
Jlall Lol ddas gl culadall Lals cannd i ga JLally e Laiay) daalall 3 gliea e Aty I ASEL) 0
¢ Some people equates social class with education:
alatl) aa dpeLaia ¥l A8kl Jolad Gulill (axy @
¢ The main problem with equating social class with education is that it is entirely
possible that an individual who is middle-class might not earn more than an average

amount of money.
dialall (e ga 2l () Ll Sl (e 4l g atlail) a Ao L) Al 81 gl p A I AKEL o




1-8.5.1 William Labov: the social stratification of ‘r’ in New York City
A saes Ada A" olaiaY) Al awdil) 1ld g ol g

e In 1962, the American sociolinguist William Labov conducted a
study of the relationship between social class and linguistic variation
in New York City
A8kl o A8l Ge Aul 2 GaslY s S0 seY) eldial) 6 al €1962 dle b o

558 Al A g salll AV 5 Ao Lain )

e Findingsz=ill

e Labov found that the higher the social class of the speakers, the
more instances of post-vocalic ‘r’ they would use.

il ge 2z CVA a0 adll ) OualSiall delaia ) dall ot ) Ll 43l CagiV 25 @
L pariinny IR Al i g

e This means that there is a relation between social class and

language.

aalll 5 e ldiay) ddall ( ABDle cllia o iag 138 o




8.5.3 Williams and Kerswill: dialect leveling in three British towns
(e 3G 8 dyillay bl daelll Ay gusi 1dhy uS s Sl

¢ Williams and Kerswill studied the accents of adolescents in three British
towns:
Aty ) (e D30 8 e el Cilagd s S s Salls e e
a. Hull b. Melton Keynse C. Reading
e The three towns differ in their social composition
e laia¥Wl Lo &8 8 o DN (alidt o
e Findingszilill “ "
e Williams and Kerswill found that that the accents of the three towns were
converging - leveling or becoming more alike.
an Glo ST cnal £y gl 5 - & jlate BN Gaall clagd G dis 0S5 5 Jalds s e
A

e They found some class-based differences in pronouncing the vowel sounds
of some vowels.
Al Cagpa pand ¢ pa¥) (3l 8 A8l UMY any a0
e They found some class-based differences in the shift to the consonant
patterns of Estuary English:
A jala i) a3 50 Lladl I Jpatl) 8 A0dl) CBSERY) yany 15aa s @
E.g. a.the glottalisation of ‘t" in butter,
B. the replacement of ‘th’ sounds with ‘¥’ or v’.
e This reflects the relation between social class and linguistic variation.
ol Gl 5 e Latia) daghall 0 A83lall (uSey 120 @

8IS B dilal) B pdlaall Ao 4Ly
&MSJ&&A@JJ}&,\MJ,M\J\@JQ'




GDTEe ey oo refers to features of speakers’ pronunciation that can signal their regional
or social background.
(A) Linguistics
(B) language
(C) dialect
(D) Accent

Sk ) il g Aoy dslaiaY) A8l

A. The lower a person is on the social scale, the less their speech will reflect prestige norms

27- Choose the correct sentence :

B. The older a person is on the political scale, the less their speech will reflect prestige norms
C. The higher a person is on the social scale, the more their speech will reflect prestige norms
D. The hire a bison is on the societal scale, the more their speech will reflect prestige norms

(8) The...... a person is on the social scale, the more their speech will reflect prestige norms.
(A)worse
(B) higher
(C) lower
(D) healthier

sy i g Lilad) ABdall Al 4 Jalad) aladiad

28- speakers at the top of the social scale speak ........ :
A. informal English with very clear regional variation

B. standard English with very little regional variation

C. non-standard English with very little political variation
D. colloquial English with very clear financial variation

st Ai gl atal) JMA (e Ao Laian¥) Al apaa3 0y




(11)The specific class that people belong to can be determined by ......
(A)education
(B) occupation
(C) economic factors
(D) All the above.

il | aleilly A8l 8l slse

29- The main problem with equating social class with education is that ....... :

A. itis entirely possible that an individual who is middle-class might not earn more than an average amount of
money

B. itis impossible possible that an individual who is middle-class might earn more than an average amount of
money

C. itisentirely possible that a student who is middle-class school might score more than an average students in
math

D. itis entirely possible that a school girl who is in third class might not earn more than an average amount of gold

a¥) | Al gl 3 50 b A g Ll JealiD

LlaV | A gsal GlKlp
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30- Labov 1962 found that ............. :

A.

B.
C.

D.

31- Williams and Kerswill found that that the accents of the three towns (Hull, Melton Keynse, Reading ) ..... :

the higher the social class of the speakers, the more instances of post-vocalic ‘r’ they would use
the lower the profession of the speakers, the less instances of vocalic r’ they would use

the higher the social class of the listeners, the less instances of pre-vocalic ‘r’ they would use
the higher the education of the speakers, the more instances of no vocalic " they would use

Jasm S5 by g 4 ka3 e Jlsa

A. were converging - levelling or becoming more alike
B. were diverging - divelling or becoming more different

C. were contradicting - cavelling or becoming funnier




Lie @3l 8polsell

Language and identity

What do we mean by linguistic identity?
Identity is something which we are constantly building and negotiating
through our interaction with others.

e The most obvious difference in the way people speak is in their
A Ly innt B 5T b la gy Y1 G o
v Accent (pronunciation).. (ki) 4l
v’ Dialect (grammatical structure)s ssill JSuell- da lll
v Social class4se Lixy! 4l
v' Education.adaill g 4y yill

The importance of Linguistic Identity4: slll 4 s¢l) Aaai-

e Speakers tend to use their linguistic identity for the different reasons:
Aline Qb Lsalll gt ga alasiul ) cpalSiall oy o
1- To disguise their membership of a particular social or regional group.
Apalil i dime Lo laial Ao gane 3 aglisine sLRY o
2- To distance themselves from a particular social or regional group.
Ll gl Liee Lo laial de sane (o aguidil dayY o
3- To move closer to another group they want to belong to.
Ll e LY (g g AT de sane e I B o

e Using names is one of the most obvious linguistic ways of
establishing people’s identity.
G4 o aad Ll lagiay JEY) 55kl (e Baal 5 o slaud i) o
e Names distinguish us from other members of a group.
Ae gana 8 (A elae ) Gy Uiy clawd) jud o
e Names can sometimes carry important meanings for individual
identity.

Aaa 8l A sell dalgll Jlaall elan) Jaad S Ll




9.3.1 Names and naming practices
e E.g.inthe Hindu religion, a child was given two names.
gl i) any s sigh) al) 3 S o
e The first name was believed to give the child strength.
ikl 5 g8 elacy V) A JSiays @
¢ The second name which was used to address the child by was believed to protect

the child and give them as much good fortune as possible.
JSeY) a8 aaadl Taall agaia y Sk dslea Jal (e JUbY) Aalleal aasiu glS A S Al ) ey @

Names can cause problems. slau¥l oSay o) quadi JSLiay
Names can cause problems, particularly if they don’t fit in with the conventions of a

community.

9.3.2 Systems of address

e Systems of address are culturally determined.

O glal) dalas Ly Laldh paanll b @

¢ In Britain, If you are addressing a judge, you use one the following address:
:.%Jﬁ\ O sl (pa 32l g alaaiu) i€y (sliasll aaf dga) gar S 1Y) clilay _g °

your honour

m’lord

m’lady

e To disregard the rules can lead to some form of disapproval or can be interpreted
as an insult.
ia) Ll e w0 S ol a3l IS e JS L) g5 ) il il Jalas (S

) i iy
dg gadl) 4 sl aladdind) Glaw) ¢ J)




(40)Speakers tend to use their linguistic identity in order ........
(A)to disguise their membership of a particular social or regional group.
(B) to distance themselves from a particular social or regional group.

(C) to move closer to another group they want to belong to.
(D) All the above.

Dt oS DY) ARy sk B Al o) B g Al (e ) 3m
23- The most obvious difference in the way people speak is in their ......... :
A. accent and dialect

B. social class and education
C. all the above
D. none of the above

P Om B () (g2 8 planllly ghaill ol Jalas ¢e )
Lla) Al agdy 0 (S g S5l a2e
25- To disregard the rules of the system of address can lead to some form of ............ :
A. approval or can be interpreted as a complement
B. disproval or cannot be interpreted as an insult
C. disapproval or can be interpreted as an insult
D.

disestablishment or can be interpreted as an implant

DSk, gl (e S 5 2igd) e s




(24)Inthe ......... religion, a child was given two names. The first name was believed to give

the child strength and the second was believed to protect the child.
(A) Hindu.
(B) Muslim
(C) Christian
(D) Jewish

S — JSLie s 28 Ll g elan) e J)
24- Choose the correct sentence :
A. Names cause no proclaims, particularly if they don’t fit in with the ... ( not clear )
Names can cause problems, if they fit in with the conventions of a community

Names can cause problems, if they don’t fit in with the universal conventions of a community

B.
C.
D. Names can cause problems, particularly if they don’t fit in with the conventions of a community

(36)Names can cause problems, particularly if they
(A) don’t fit m.
(B) conform
(C) agree
(D)are very long.

...... with the conventions of a community

trook8 _eals
kholood gaeal
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Identity and representation
9.4.1 Identity and representation. siail) o 4 sgd)
e Imposing labels of identity

e According to Sacks 1995:
V490 LSlul iy o
e Labels of identity are imposed by people who may be in a more powerful
position.

B8 ST i ga 05858 8 Galidl 8 (e 4 el il 530

e Our perception of ourselves can only be::kaé ) sS Licdi¥ U gl (S
(1) in relation to others
O AN Ay

L
(2) in relation to our status within a social group

In groups and out groups

9.4.2 In-groups and out-groups
e In-group is a social group to which the speaker belongs.
Al L ety Gl e laia¥) de senall a7 de geaddl Jal
e The out-group comprises people who do not belong to that group.
A ganall Gl 1) sty Y ol GalidY) de sesdll z A s e
E.g. Gang members may use certain expressions with each other that mark
them as members of a particular gang or in-group.
e At the same time, the use of these expressions can differentiate them
from members of other gangs, the out-groups in that situation.
z 0B gAY Cililiaall ol il e an il il jlall o2s aladiinl (S cduwdi il 3 o
Al s3gy Gile ganal)
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9.5.1 Stylistic variation and language choice
e We also position ourselves in relation to others by the way that we talk in
different kinds of interaction
Jelatll (e dalin, g oY Gaats 3l A5y jhall JYA e 0 A e dBDle 8 Ll gt Lagl (05 @
e | Audience desigﬂrefers to notion that speakers will take into account whom they
are addressing and alter their speech style accordingly.
pedlS Clil pins mllais agie e Hlie V) A CpalSidl Aalis 0 3588 ) el seenll mreai @
REIRREEYS
e |Linguistic convergencelis a process in which speakers change their speech to
maT<e it more sir'n-ilar to that of their hearer,
il e sl ol aBlee ST alaad agillad cpadSil) padidylee o osalll o lanl) o
) |Li_nguistic maintenancelis a process in which speakers may choose not to
converge, but instead to maintain their own variety.
Aalall lee o1 o Blaall elld e Yoy S5« A2 ane CpalSiall s, dlee o 45l Bl o
o |Linguistic divergencelis a process in which speakers choose to move away from
the Linguistic norms of their hearer in order to emphasize the difference between
themselves and the person or people they are talking to.

o Sl dal e paladl ol Halae o AW ) L faaidl Slia) Adee 5o (g galll GERY) @
L ohanty ol (ala SV 5 pad Bl s agle Bl
dalll ¢l
(3asiall by gl 3 Al (Jia) dnle V) 488 paca cillY) Gl e Balisll SUie o
e Loss of a language can also be associated with a loss of cultural identity.
Al 4 el aidy At o 05S3 AR) a8 (S Ll @
e Languages can be lost for a variety of reasons:
e speakers may choose to shift from one language to another as social
conditions change
e laa) Gaglll 5 oAl ) 3l e Jaaill oiaatiall jlisy 38 o
e One language may be imposed and another suppressed by a dominant
power.

Alasga 553 i o AV g saal g Azl 81 03 o
10.2 What is standard English?4221asY) JLaadl & La

10.2.1 Characteristics of Standard English
e Standard English is related to dialects, not accents.
SISy (6 sivie oy @
b. Standard English is difficult to isolate and put linguistic
boundaries around.
Al gl dsan angsal e Caall e Ay aladYl jlxs o
c. Standard English is the dialect of the middle and upper classes.
Ll 5 o sl el Aagd Lo Ao Salaiyl Slae o
d. Forms of Standard English are socially prestigious.
e Lain) 45 g e b Al &y 3laiy) JISST o
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e txamples of non-standard English
Gl e &3y G ALl o
o multiple negation: 1. _&1))
v’ e.g | didn’t know nothing the use of ‘ain’t
v':e.g asinlain’t got none,

e |Codification of Standard English|is a process where scholars
analyze and record the vocabulary and grammatical patterns of a
language.

Lyl i jiall el slalall Javas s Jla L e 5 Aol A syl (3055 o

dxll

3 S Ayl
38 Y (e (5Ss Ay el (a8
(35) Labels of identity are imposed by people who may.............

(A)speak two languages
(B) be in a more powerful position

(C) have no powerful position
(D) live in Saudi Arabia.

4 gana 8 duald Tlians b jual s dald il jle () gediing 38 Clliaal) o il
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DSk - (g salll AV Linguistic divergence s

16- .......cee.... in Which speakers change their speech to make it more similar to that of their hearer :
Linguistic maintenance is a process

Linguistic divergence is a process

Linguistic diseases is a process

o 0w p

Linguistic convergence is a process

(29). ....... is a process in which speakers change their speech to make it more similar to that of
their hearer.
(A) Linguistics
(B) Linguistic study
(C) Linguistic convergence
(D) Semantics.

18- Linguistic divergence IS a process In WhICh .......cevuenns :
A. speakers choose to move closer from the Linguistic norms of their hearer
speakers choose not to move away from the Linguistic norms of their writers

B
C. speakers loose to move away from the Linguistic norms of their harper
D. speakers choose to move away from the Linguistic norms of their hearer

05k - Audience design <y s

(33). .......refers to the notion that speakers will take into account whom they are addressing
and alter their speech style accordingly.
(A)Linguistic convergence
(B) Audience design
(C) Linguistic maintenance

(D) linguistics




OUTGROUP 5 IN GROUP J) iy s

(12)......... is a social group to which the speaker belongs.
(A) Garage
(B) outgroup
(C) Ingroup
(D) Accent.

(53)The ........ comprises people who do not belong to that group.
(A)garage
(B) ingroup
(C) accent
(D) outgroup.

Linguistic maintenance «u a5

17- Linguistic maintenance is a process in which ............. :

speakers may choose not to maintain, but instead to converge their own variety
writers may choose not to mountain, but instead to diverge their own variety
speakers may choose not to converge, but instead to maintain their own variety
listeners may choose not to converge, but instead to champagne their own variety

A.

B
C.
D

DIALECT «a =5

21- The dialect known as standard English has special status because :

A.
B.
C.
D.

It is the dialect of government and legal institutions and the dialect of literacy ... ( not clear )

It is the dialect taught as ‘English’ to foreign learners and the dialect of the higher social classes
It is the prestige form of English

All the above




19- Choose the correct sentence :
A.

B
C.
D

20- Languages can be lost because :
A

B
C.
D

22- The grammar of standard American ................ because it contains multiple negation :

A.
B.

ks [N

DS - Aalll gl e

Loss of a language can be associated with a loss of cultural fertility
Loss of a luggage cannot be associated with a floss of social ideology
Loss of a language can be disassociated with a loss of political identity
Loss of a language can be associated with a loss of cultural identity

speakers may choose to shift from one language to another as sacial conditions change
people may learn another language especially English

one language may be studied as a course at school or university

both b and c

oS multiple negation

does not allow a sentence like I didn’t know anything
does not allow a sentence like He didn’t know the answer

| c.

does not allow a sentence like She didn’t see nothfnﬂ C Aagauall 4ilal

D.

does not allow a sentence like We did nothing yesterday

(37)Choose the sentence that involves multiple negation.
(A) I did not see anything
(B) I do not know anybody
(C)I did not know anything
(D)I didn’t know nothing.




15- According to Sacks 1995, Labels of identity are impaosed by people who may be ........ :
A.

B.
C.
D

in a less powerful position

in a more powerful position
in a more powerless position
in a more forceful cohesion
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